))  Suppose you had 12 meters of fencing to make two side-by-side enclosures as shown. What is the
maximum area that you could enclose?
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An open rectangular bos has asquare base and a volume of 500 cubic nches. What dimensions
minimize the amount o crdboard negded to make the box”

Answer: 10in, 10 in, 5in



Find two numbers whose difference is 100 and whose product is
pPrifacy
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Approximate the square root of 99. Is
this an under or over approximation?

Explain.,),_ [{DD) )03 (ﬂqf —-\
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Approximate the cube root of -125.1. ‘;,r—
Is this an over or under
—Ep(p;)omm\a?)l’?_ Explain '25 _5> (/25 ’/ —__\
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5) P=17  S=X+ 2y (na)
XY= 141 gﬂwﬂ‘b









